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THE INSTITUTE OF BANKERS, BANGLADESH (IBB)
96" Banking Professional Examination, 2023
AIBB
CREDIT OPERATIONS AND MANAGEMENT (COM)

Subject Code : 21012

Time—3 hours
Full marks—100

‘Pass marks—45
[N.B. The figures in the right margin indicate full marks. Answer any five questions.]
: Marks
. (a) What is the role of credit management in the banks? 5
(b) What are the steps in credit/loan application process? 5
(c) Discuss the features of a good credit proposal. : 10

. (a) What are the different types of credit that are currently extendingby 7
Bangladeshi commercial banks? Discuss briefly.

(b) Describe the importance of cottage, micro, small and medium enterprise 7
(CMSME) financing to ensure inclusive economic development.

(c) What is syndicated financing? How does it work?

. (a) How you can select a borrower for financing? 5
(b) What is the difference between primary and secondary collateral security?
(c) Discuss the internal credit risk ratings and scores based on the guidelines 10

on ICRRS issued by Bangladesh Bank. Explain each category of rating.

4. (a) What do you mean by loan classification? Discuss the various types 6

of loan classification with example.

(b) What is specific provision? Descrlbe the role of prowsmnmg in 6
managing credit risk.

(c) Suppose, Adit Enterprise took loan from Loyal Bank Ltd. The present
loan outstanding is 50 lacs. There is 10 lac Taka unrealized interest in
the Interest suspense account. Other collaterals are as follows :

(i) The value of mortgaged land is Taka 30 lacs.
(i) The value of a Tin shed is Taka 10 lacs.
(iii) The value of pledged goods is Taka 10 lacs.
(iv) Taka 10 lacs of deposit is kept lien against the loan.

wn

What is the total value of eligible collateral and base for pfovision?

. (a) What is Break-Even Point? What are the underlying assumptions of
Cost-Volume-Profit (CVP) analysis?

(b) What do you mean by margin of safety? What does it indicate? 5
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(c) ABC Seating, a manufacture of chairs, had the following information for 2020 :

Sales

2,400 units

Sales price

Tk. 40 per unit

(Taka forty)

Variable costs
Fixed costs

Tk. 15 per unit
Tk. 19,500

"Calculate :

(i) What is the contribution margin ratio?
(ii) What is the break-point in sales?

(iii) What is the margin of safety in units and sales?
(iv) If the company wishes to increase its contributio margin by 10
40% in 2021, by how much will it need to increase its sales, if

all other factors remain constant?

6. (a) What is capital budgeting? Mentlon some common capital 5

budgeting techmques

(b) ABO Enterprise is reviewing an investment proposal. The initial cost
and estimates of the book value of the investment at the end of each
year, the net cash flows for each year, and the net income for each year
are presented in the schedule below. All cash flows are assumed to take
place at the end of the year. The residual value of the investment at the
end of each year is equal to its book value. There would be no residual
value at the end of the investment’s life.

Investment proposal

Year . Initial Cost and Annual Annual
Book Value Cash Flows Net Income
(Taka) (Taka) (Taka)
0 1,05,000
1 70,000 45,000 16,000
2 42,000 40,000 18,000
3 21,000 35,000 20,000
4 7,000 30,000 22,000
5 0 25,000 24,000

ABO Enterprise uses a 15% target rate of return for new investment

proposals. Discount factors are as follows :

Year

LU, T SN S T (G S

You are required calculate :

Discount Factor, 15%

0-86957
0-75614
0-65752
0-57175
0-49718

(i) Cash payback period for this proposal.
(u) The Annual Rate of Return (ARR) for the investment.
(1ii) The Net Present Value (NPV) of the investment.

15
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7. (a) What are the main components of working capital? 5
(b) XYZ Company provides the following particulars : ' 15
Particulars Amount per unit (Taka)

Raw materials 80

Direct labour 30

Overhead 60

Total cost ed g 170

Profit 30

Selling price 200

. The following further particulars available :
Raw materials in stock, on average, one month; Materials in
process (completion stage, 50%), on average, half a month,
‘Finished goods in stock, on average, one month. Credit allowed by
suppliers -is one month, credit allowed to debtors in two months;
Average time-lag in payment of wages is 1-5 weeks and one month
in overhead expenses; One-fourth of the output is sold against cash;
Cash in hand and at Bank is desired to be maintained at Taka
3,65,000. You are required to prepare a statement showing the
working capital needed to finance a level of activity of 1,04,000
units of production. Assume that production is carried on evenly
throughout the year, and wages and overheads are accrue similarly.
Also assume 4 weeks equivalent to a month, 52 weeks a year.
8. (a) What do you mean by loan pricing?
(b) Discuss the components that are needed to be taken into account in
pricing a loan. '
(c) Write about at least five key financial ratios that are used in
analyzing financial statements of a bank.

9. (a) Briefly describe the basic charge documents. 8
(b) Distinguish between pledge and hypothecation. 5
(c) Describe on-site and off-side monitoring. 7
10. Write short notes (any five) : . 4x5=20
(a) Back to Back L/C (b) Credit Guarantee Scheme
(c) Consumer financing (d) Third party Guarantee -
(e) Grace period (f) Pari-passu charge
(g) Interest suspense (h) Loan write-off
(i) Negative lien.
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